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POLITICAL SCIENCE
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  The first systematic Indian political theory can be found in :
(A) The Vedas (B) The Arthashastra
(C) The Sukra Niti Sara (D) The Bhagavad Gita
2. The idea of the cave and shadows’ is associated with :
(A) Socrates (B) Democrates
(C) Plato (D) Aristotle
3.  Who said that some men are ruled by force and some others by law ?
(A) Marx (B) Lenin
(C) Hegel (D) Machiavelli

4.  Who propounded the idea of ‘felicific calculus’ ?
(A) Machiavelli (B) Hobbes
(C) Bentham (D) Marx

5.  The theory of contradictions was propounded by :

(A) Mao (B) Hobbes
(©) Mill (D) Locke
6.  The problem of ‘minority opinion” was tackled by :
(A) Hobbes (B) Locke
(C) Marx (D) Rousseau
7. Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Nozic was a libertarian.

Reason (R) : Nozic stood for individual liberty and just property.
Which one of the following is correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) is false but (R) is true.

(D) (A) is true but (R) is false.

D —-0208 2
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10.

Assertion (A) : Post behavioralism consisted of normative element.
Reason (R) : Easton conceded relevance of values in political analysis.
Which one of the following is correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) is true and (R) is false.

(D) (A) is false and (R) is true.

Identify the order in which the following occured :
i)  The Russian Revolution

ii) The American Revolution
iii) The French Revolution

(
(
(
(iv) The Glorious Revolution
(
(
(

A) (), (i), ), (i)
B)  (iv), (i), (iid), ()
Q) (i) (i), (i), (iv)
(D) (), (iv), (i), (i)

Match the List-I with the List-II :

List-1 List-II
(a) Libertarianism (i) Bentham
(b)  Utilitarianism (i) Gandhi
(c)  Civil Society (i) Nozick
(d) Swaraj (iv) Hegel

(@ () (o (@
(A) () @3 (@v) (i)
(B) (@) @) @) ()
Q) ) @ 3D ()
(D) Gv) @ @) (i)
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11.

12.

13.

14.

15.

16.

Who among the following liberated political development from socio-economic

modernisation ?
(A) Gabriel Almond (B)
(C) W.W. Rostow (D)

Lucian Pye

Samuel Huntington

Who among the following described elites as “speculators” and “rentiers” ?

(A) Pareto (B)
(C) Michels (D)

Mosca

Gasset

In communications theory, the ability to act in response to forecasts of future

consequences is called :
(A) Gain (B)
(C) Load (D)

Lead
Lag

Who among the following talks of pseudo pressure groups ?
(A) Duverger (B) Jean Blondel
(C) Almond (D) James Jupp

Which one of the following books was authored by David Easton ?
(A) A systems Analysis of Political Life

(B) The Politics of the Developing Areas
(C) Modern Political Analysis
(D) The Nerves of Government

The behavioural critics of Max Weber’s model of bureaucracy are :
(i) Robert Merton

(i) M.Crozier

(iii) Fred Riggs

(iv) Karl Deutsch

Select the correct answer from the code given below :

(A) @ @@ @)
(B) @) (i) (i)
(© @) ()

(D) @) (@) (i)
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17.

18.

19.

Which of the following statements are true about the British Parliamentary System ?
(i) The Queen always acts on the advice of the Cabinet.

(ii) The Cabinet functions on the principle of collective responsiblity.

(iii) The Parliament can make laws on any subject.

(iv) The Courts can declare a law unconstitutional.

Select the correct answer from the code below :

(A) () () and (iv)
(B) (i) (i) and (iv)
(C) @) (i) and (i)
(D) () (i) and (iv)

Given below are the two statements one labelled as Assertion (A) and the other as
Reason (R) :

Assertion (A) : Political socialisation is the process by which political cultures are
maintained and changed.

Reason (R) : Family, School, Peer groups, experiences during employment, mass
media and direct contact with political system are the main agents of
the process of socialisation

Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : The U.S. Supreme Court is more powerfull than the Supreme Court
of India in the exercise of power of judicial review.

Reason (R) : The U.S. Supreme Court follows the principle of ‘due process of law’.
Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
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20. Match List-I with List-II and select the correct answer from the code given below:

List-1 List-11
(a) Deutsch (i) Development Trap
(b) Riggs (i) Modernisation - a multi-faceted process
() Parcto (iii) Receptors or reception centres
(d) Huntington (iv) Identifying democracy with corruption, machine
politics and gangsterism
Code :
(@ B (© @@
A) G 6 ) @
® O @ @) @w)
© @) @) 6 @)
D) (v @ @ (i)

21. Anti-defection law was placed in :
(A) the Preamble
B) the fundamental rights chapter in the constitution
) 6th Schedule of the constitution
D) 10th Schedule of the constitution

22. Who votes in the election of the Vice President ? Choose the correct answer from the
following.

(A) Members of the Legislative Assemblies

(B) Members of the Legislative Councils
(C) Elected Members of the Parliament
(D) Elected and Nominated Members of Parliament
23.  Which of the following terms is not incorporated in the Constitution ?
(A) Secular (B) Federal
(C) Democratic (D) Socialist

24. The Supreme Court of India :
(i)  has original but not appellate jurisdictions
(ii) appoints the Attorney General of India
(iii) has exclusive jurisdiction in disputes between Union and the States
(iv) enforces fundamental rights
Choose the correct answer from the codes given below :

Codes :
(A) (i) and (iii) (B) (iii) and (iv)
(C) (iii) and (ii) (D) (iv) and (i)

D —0208 10
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(D) (iv) 3 ()
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25.

26.

27.

28.

National Commission to Review the Constitution was formed during the Prime
Ministership of :

(A) Morarji Desai (B)
(C) Atal Bihari Vajpayee (D)

V.P. Singh
Manmohan Singh

Given below are two statements. One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Nehru said that it is crime against man and God to submit to anybody’s
rule.

Reason (R) :
Choose the correct answer from the following :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

Individuals are not born equal.

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Given below are two statement, one labelled as Assertion (A) and the other is labelled
as Reason (R).

Assertion (A) : Economic Development reduces the significance of parochial ties by
the creation of non-parochial economic loyalties.

Reason (R) :
Choose the correct answer from the following :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

Sectarian strifes have increasingly got aggravated.

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Arrange the following in chronological order and use the codes given below :
(i) Kesavananda Bharati case

(i) Golak Nath case

(iii) Minerva Mills case

(iv) Sajjan Singh case

Codes :

(A) @) (@) (@) ()
®B) @ (v) () (i)
Q) (v) (@) @ ()
(D) G (v) (D) ()
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29. Match List-I with List-II and select the correct answer from the codes given below :

List-1 List-11

(a) Emergence of All India Muslim League i) 1914
(b) Lucknow Pact (i) 1906
() Motilal Nehru Report (iii) 1916
(d) Komagatamaru Incident (iv) 1928
codes

(@ @ () @
(A) (@) @) (@v) @
(B) (@@ @) (@v) @
(© (@v) @) @ ()
(D) @) () (v) (i)

30. Match List-I with List-II and select the correct answer from the codes given below :

List-1

(State)
(a) Maharashtra
(b) Punjab
() Goa
(d) Sikkim
codes

(@ @ (© @
(A) @) @@ (Gv) (i)
B) @ (@) (@v) ()
(© @) @) (@v) @)
(D) Gv) (@) @ (D)

List-11
(No. of Members in the 14th Lokh Sabha)
@ 13
ii) 48

31. Which is the correct sequential order of the following stages in the appointment of Civil

Servants ?
(i) Induction

(iii) Viva-Voce

codes :

(A) @) (@v) (D) ()
B) @ () @) ()
© @) @) @O (@)
(D) Gv) @) @) (i)

(i) Advertisement

(iv) Written Examination

14



=
| <t O O o
- O —
o O o o
o
—~ —~
—~~ .- uu V
— Rl Rl -

—-11

( 14 &7 & G9T 7 Gl 1 &)

13

fefaa qden

(iv)

HT&ThIT

(ii)

forma=

P.T.O.

15

il sfean gieem T &1 3va
TES T

gaT-1 %1 gei-11 9 e & iR = o8 e Sl § | F1 ST 1 =97 &1
ge-1

29.

(d)
)
)
i
(d)
i
i
i
i

N ~— ~—~ ~—~ ~—~

-1 1 FEA-11 § e 8 iR = o3 e Hondl § | T8l S0 1 99 &Y

30.

(i)

frgfaa & frefafed stemensii 1 9@ sTshias w9 #0182

D —-0208



32.

33.

34.

35.

36.

37.

38.

The Word “Bureaucracy” was first coined by :

(A) Max Weber (B) Karl Marx

(C) Vincent de Gaurnay (D) Spencer

Who represents the Government while presenting the budget to Parliament ?
(A) Prime Minister (B) The Finance Minister

(C) The Speaker of Lok Sabha (D) The Chairman of Rajya Sabha

In India, the Office of the Lokpal was suggested in 1966 on the basis of the
recommendations of the :

(A) Administrative Reforms Commission

(B) Planning Commission

(C) Law Commission

(D) Finance Commission

Which one of the following functions is performed by the Comptroller and Auditor
General of India ?

(A) Presentation and sanction of the Budget

B) Execution of the Budget

(

(C) National Accounting

(D) Audit

The emoluments and allowances of the President of India are charged on the :
(A) Consolidated Fund of India (B) Contingency Fund of India

(C) Public Accounts Fund (D) Treasury

Given below are two statements, one labelled as Assertion (A) and the other labelled

as Reason (R).

Assertion (A) : State Governments are obliged to appoint a State Finance Commission
under the Constitution.

Reason (R) : The quantum of money to be paid annually by the State Governments
to the local bodies is determined by the State Finance Commission.

In the centext of the above two statements which one of the following is correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not a correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Given below are two statements, one labelled as Assertion (A) and the other labelled

as Reason (R).

Assertion (A) : Delegation is a functional imperative for all types of Organisations.

Reason (R) : The Chief Executive cannot provide effective leadership without
sufficient powers.

In the centext of the above two statements which one of the following is correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not a correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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32.

33.

34.

35.

36.

37.

38.

‘ATl v wewew R g1 W foRam e o ?
(A) HH TR (B) hTcl I () fadefed@ (D) &N

HHE H I U9 A THI DI TIRR hT Fiafree il € 2
(A) 9 T (B) o w=iT
(C) Tk 9T I 3ea& (D) TA 9T I G

AR H, fre 1 ARl & SR W, 1966 H <iieh 9Tel st G&A1 o1 Fara T T o ?

(A) YeTETH GER A=A (B) IS SR

(C) fafy smm (D) fa M

IRA o 725k Td TeT o Tdersh gR1 = | 9 han e Huw R s €2
(A) S o TEga IR TR (B) =te I feranfafa

(C) TS RAmR (D) erEn whe

qRA o T29d ohi IReAfe@ 9 v fod S €

(A) ¥RA & Gfea ffg | (B) WRd i TehRfemeh fAfy &
(C) s e Aty 9 (D) TSH Y

= < e fed T ¥, U ol IR (A), R TE S HROT (R) AW feam T g

AfieRed (A) :  TiAEM % iqiid To0 WK T3 T 31 e e & ford et 2t €

HIUT (R) : T TN g T f7eptai oht <F ST el afties & i3t 61 fsior T
ford T gR1 foma e B

ST < hel & wed U, frefafas § 9 &9 @ w7d 72

(A) (A) 3R (R) S §F € 3R (R), (A) Tl T =& T |

(B) (A) 3R (R) T 9 ¥, W (R), (A) I W& =& T |

Q) (A) §F T, T (R) A |

(D) (A) 38 T, W (R) §A T

F=r & wed fed T ¥, UE ol IURAT (A) T AW, TR T B HROT (R) H AW e
TN

ARTHAT (A) : TS TR F GSHA & T TR Fehraiceh STTavashdl ¢ |

HIT (R) : T wEUeish qag vifeqdl o fo gurerqol Jge & YeM Y TRl €|
ST 31wl & T H, Freafafes § @ &9 @ w22

(A) (A) 3R (R) S § € 3R (R), (A) Tl T =& T |

B) (A) 3R (R) T T T, W (R), (A) F T& == T2 2 |

) (A) ¥ T 3R (R) 319 T

(
(C
(D) (A) 38 T 3R (R) 9 T
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39.

40.

41.

42.

Match List-I with List-II and give the answer by using the codes given below :

List-1 List-II
(a) Santhanam Committee (i)  Recruitment policy and selection
methods
(b) Ashok Mehta Committee (i) Reorganisation of the British Civil Service
(c) Kothari Committee (iii) Prevention of corruption
(d) Fulcon Committee (iv) Two tier system of Panchayati Raj

codes :

(A) @) @Gv) @ (@)
(B) Gv) () @) ()
(© G @) @ @)
(D) @) (D) (@v) @)

What is Herbert A.Simon’s approach to the study of Public Administration ?
(A) Behavioural approach (B) Structural approach
(C) Institutional approach (D) Philosophical approach

Which one of the following chapters of the United Nations Charter is a counterpart to
Article 16 of the Covenant of the League of Nation ?

(A) Chapter V (B) Chapter VI
(C) Chapter VII (D) Chapter VIII

According to Hans Margenthan, the patterns of balance of power are :
(i)  the pattern of direct opposition

(ii) the pattern of competition

(iii) the pattern of support

(iv) the pattern of mutual trust

Choose the correct answer from the code given below :

(A) (i) and (ii) are correct

(B) (i) and (iii) are correct
(C) (iii) and (iv) are correct
(D) () ,(@i) ,(iv) are correct
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39. @e-1F ger-11 9 faam &L oIk = T e dordi § G 3| -

ger-1 geE-11
(a) HiuE™ HiEfd () 79 A B H AT IR T F adlh
(b) 3TN HEl GiHfd (i) fofes fafoa wfdd s greme
(c) hISH wfHfd (ili)  YSTER T Yk
(d) oM FEfd (iv) ST TS T Q-0 S
& b :

(@ B (© @
(A) @) (@(v) @) (i)
(B) (v) (i) @) @
(© @) @) @ (@0
(D) Gi) () () (D)

40. T YRITEA o 3T o foldl SO T, WISHA Wl SUFM ® :
(A) SHEERAE! UFTH (B) HIEATHE IUNTH
(C) HEATTT 3UNH (D) <rifTR U™

41. TgH T F TR H DA TR AE T F JHE F TIo3¢-16 T Ufd €9 § 2
(A) T=T-V (B) <I-VI (C) ==T-VII (D) =e-VIII

42. 9 HURAT % STER, Wfdd & HJad & Yo | ¢
() o9 fody w1 YA
(i) faeret @ e
(ili) THLT H1 YA
(iv) TREAReR faverd &1 e
171 e Herdll H 9 W&l I I = A
) (i) 3R (ii) TE T
B) (i) 3R (iii) T 7
C) (iii) 3R (iv) T 7
(i), (i), (iv) T 1

>

(
(
(
(D)
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43.

44.

45.

46.

47.

48.

Arrange the following in chronological order as these emerged :

i) NAM

(i) WTO

(iii) New International Economic Order
(iv) SAPTA

Codes :

(A) Gv) (@) @ ()

B) @) (@) (@v) (i)

(© @) @) (@) @)

(D) @) (v) () ()

Which one of the following is not considerd an instrument for promotion of National
Interest ?

(A) Propaganda (B)
(C) International Law (D)

War
Diplomacy

Which one of the following countries is not signatory to the NPT ?

(A) UK. (B) U.S.A.

(C) France (D) India
SAARC Secretariat is located at :

(A) New Delhi (B) Islamabad
(C) Dhaka (D) Kathmandu

Which is the largest trade partner of India ?
(A) ASEAN (B) APEC
(C) oOIC (D) EU

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R).

Assertion (A) : Peacekeeping freezes hostilities rather than resolves them.
Reason (R) :
Choose the correct answer from the following :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(
(C) (A)is true and (R) is false
(D) (A) is false and (R) is true

Peacekeeping is not even mentioned in the U.N. charter.
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43. TrAfafEd =1 376 I9Wa & STTER, HIlshias s § @ :
() T\ (NAM)
(i) A A (WTO)
(iii) 9 ST Afefen SHeree
(iv) T9T (SAPTA)

(i)
(i)
(@)
@)

44, Trefafaa § 9 wF @1 TLE 50 H 3900 B BT STHI0T FHAT ST § 2
(A) ¥Hd FIR (B) IS (Q) Amigl fafy (D) weifa

45. T o S W1 W WA, 5 sEerl T8 § 2
(A) I (B) ATET (© wiE (D) R

46. 9rh Gfeemer el feod €2
(A) T oot (B) SEAHIEE (C) T (D) HISHI

47. 9N 1 HaY S AR T ¢
(A) TUHITTA (ASEAN) (B) TULIHL (APECQ)
(Q) L3R (OIC) (D) 3. (EU)

48. = e feu w ¥, Uk i AfreRer (A) F, TR TER I RIOT (R) 1 A e T e
AR (A) : ST T g Tearfaai ot feer ot a1 § ST kT THie i o |
ST (R) : T+ T T o 3 .= | 5o & 81 fokan o |
= 1 9 9 SR o 99T v
(A) (A) 3R (R) T 9 ¥ 3R (R), (A) F HE =& B |
(B) (A) 3R (R) Il ¥ § T (R), (A) Tl T&I =ATAT T4 ¢ |
Q) (A) TF T 3R (R) 36 T
(D) (A) 38 T 3R (R) 9 T
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49. Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R).

Assertion (A) : Itis not the idealism but national interests that shape the foreign policy
of a country.

Reason (R) : USA has often been supporting dictatorial regimes.

In the context of the above two statements which one of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

50. Match List-I with List-II in context of the events and regimes of the Prime Ministers.
Select correct answer from the codes given below :

List-1 List-1I
(@) Indo-US Nuclear Cooperation Agreement (i) Jawaharlal Nehru
(b) Tashkant Summit (i) Indira Gandhi
(c) Shimla Accord (iii) Lal Bahadur Shastri
(d) Panchsheel (iv) Man Mohan Singh
Codes

(@ () (o (@)
(A) @ @) @0 (@v)
(B) @@ @ (@v) (i)
(€ (@v) @) G @
(D) (@) @) @) (v)

-00o0-
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49. = < e feu e E, ek wr afieRer (A) F, TR TER I RIUT (R) A e T e
AURYT (A) : AR &l dfceh T fed € S <91 ot forer ifd a1 ehR <
HET (R) : 7 TE.T, THATIE I JOTGA 1 TR el ol @l ¢ |
SR < FHoAl & def § e ol § | i e €2
(A) (A) 3R (R) T 9 ¥ 3R (R), (A) F H& =& B |
(B) (A) 3R (R) I ¥ € W (R), (A) I Wl A & |
Q) (A) T B, T (R) 3T8A T
(D) (A) A T, W (R) T T

50. HeIST IR YUMHA ®i A yoment % e | gei-1 o gEi-11 9 faae w1 T T we
Hohdl H ¥ TR W 1 =TT

get-1 geEr-11
(a) Q- STHNER LAY §EAM G99l (i)  STaTeiele 86
(b) TRTRIA eRER THeA (i) sf< e
(c) Temen wenfa (iti) Tl STRTGL QS
(d) i (iv) TR fog
Qa???az_rf:

(@ B (©© @
(A) (@) @) @) o (iv)
B) @@ @) (v) (i)
© (v) @) @) @
(D) () (@) @) (iv)

-00o0-
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